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Power Maths is our new, exciting scheme which is

used in Years One to Six. It is a whole class

approach which aims to make learning fun and
ER create connections between concepts, allowing

children to explore their learning and master new

M &1l HS ideas with a deep understanding.

Alongside the textbooks and online resources,
each child has their own practice book which they
will use during lessons.

The whole-class
mastery approach that w

works for every child W




Meet the
Power Maths

Team




Flexible Flo

is open-minded and

sometimes indecisive.

She likes to think

differently and come
up with a variety of
methods or ideas.

‘Let’s try it this way ...’
‘Can we do it differently?’
‘I've got another way of
doing this!’




is resolute, resilient and
Systematic. He
concentrates hard, always
tries his best and he’ll

never give up — even
though he doesn't always
choose the most efficient
methods!

‘Let’s try again.’
‘Mistakes are cool!’
‘Have | found all of the
solutions?’




IS eager, interested
and inquisitive, and he
loves solving puzzies

and problems.
Ash asks lots of
questions but
sometimes gets
distracted.

‘What if we tried this ...7’
‘l wonder ...
‘Is there a pattern here?”’




BraVE AStl"ld N\ ol ‘I'm going to try this!’

is confident, willing to take » @8 ]I know how to do that!
risks and unafraid of g UEID SRR A eEE e
failure. She is never scared

to jump Straight into a

problem or question, and
although she often makes
Simple mistakes she is
happy to talk them through
with others.




The Power Maths Team grow and develop, just as your children do..
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YOu notice?
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Converting pounds and pence
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